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Important Assertion/Reason of Geography

While answering Assertion-Reason questions, always read both statements carefully and judge them
separately. Check if the Assertion is true, and then see if the Reason is also correct on its own. If
both are true, think whether the Reason logically explains the Assertion. But remember, if the
Assertion is false, the Reason cana??t be its explanation even if it is true. These questions test your
concept clarity and logical thinking, so don&??t just guessa??a proper reading of the NCERT
book is very important to answer them correctly.

Geography

Resources and Development : Chapter 1

Forest and Wildlife Resources : Chapter 2

Water Resources : Chapter 3

Agriculture : Chapter 4

Minerals and Energy Resources . Chapter 5

Manufacturing Industries : Chapter 6

Lifelines of Indian Economy : Chapter 7

Find the correct option

These previously asked questions can help you prepare for Assertion/Reason questions and improve
your scores in this section.

Geography:
Q.1 Assertion: Forests play a key role in the ecological system as these are also the primary

producers on which all other beings depend.

Reason: The plants, the animals, and micro-organisms re-create the quality of the air we breathe, the
water we drink, and the soil that produces our food without which we cannot survive.

a. Both A and R are true and R is the correct explanation of A.
b. Both assertion and reason are true but the reason is not the correct explanation of assertion.

c. Assertion is true but reason is false.
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d. Both assertion and reason are false.

Q.2 Assertion: Multi Purpose Projects help to control floods by regulating water flow.

Reason: Dams were constructed to conserve water.

a. Both A and R are true and R is the correct explanation of A.

b. Both assertion and reason are true but the reason is not the correct explanation of assertion.
c. Assertion is true but reason is false.

d. Both assertion and reason are false.

Q.3 Assertion: Soil is the most important renewable natural resource.

Reason: Soil supports different types of living organisms on earth.

a. Both A and R are true and-R/is the correct explanation of A.

b. Both assertion and reason are true but the reason is not the correct explanation of assertion.
c. Assertion is true but reason is false.

d. Both assertion and reason are false.

Q.4 Assertion: Rubber is grown in tropical and sub-tropical areas.

Reason: It requires moist and humid climate with rainfall o more than 100 cm and temperature above
50 degree Celsius.

a. Both A and R are true and R is the correct explanation of A.

b. Both assertion and reason are true but the reason is not the correct explanation of assertion.
c. Assertion is true but reason is false.

d. Both assertion and reason are false.

Q.5 Assertion: Tea cultivation, is a labor-intensive industry.

Reason: Cultivation can be done throughout the year. Tea bushes requires warm and moist frost-free
climate.

a. Both A and R are true and R is the correct explanation of A.
b. Both assertion and reason are true but the reason is not the correct explanation of assertion.

c. Assertion is true but reason is false.
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d. Both assertion and reason are false.

Q.6 Assertion: Apple food crop in India is rice and requires less rain.

Reason: Our country is the fourth largest producer of rice in the world.

a. Both A and R are true and R is the correct explanation of A.

b. Both assertion and reason are true but the reason is not the correct explanation of assertion.
c. Assertion is true but reason is false.

d. Both assertion and reason are false.

Note: This is my humble request to all the readers to re-check doubtful answers. Although, i always try
to provide you accurate answers but sometimes unintentional errors may occur. So, do not follow all the
answers blindly if they. don&??t fit to your existing knowledge, just check it in the N.C.E.R.T. books or
other reliable sources.-Lastly, you can also tell me in the comments about my mistakes to make my
website more error free. (the accuracy level of my answers is 99.9% otherwise)
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